
MAT330 Solution to HWIO

1
.

X. Y~Uuifko.is ) , independent,

a
'
t Xa t 4=0 has 2 distinct real solutions

as .az EIR if and only if b -

- X
'

-44>0
.

(in which case as =
-XtE , az=-X⇒

PHIN > o) -- Nyc Ma) = tread
a

Area (Cod]T
44 - - - - . . -

-
-

f 's -544t.tw#ai*fiEdx=xIli..zI.
2 . X.Yr Unit (Ceb), independent.

a) EHYIIdtEHIEHI-E.dz -17
,

b) Z - XY also takes robes only on COAT
.

Fzlz) -- Pfzfz) - Plxysz) = P( Ye E) =



r.

÷÷i¥÷÷÷÷÷:÷÷:=L - fit ¥
,

I dy dx

*

= I - fz 4 - I) dx
= I - (x - Zhu x) ) ! = I - (I - zoloft - Z t Zlnz)
= Z - 2- be -2

.

Thus fzHe ddz Fz ( z) = Adz (Z - 2-luz) =
= I - ler Z - Z . Iz = - bu z =lnh•

c) Eft) = f! Z .
ln ¥ At = - f! 2- bit DZ improper

integral

= - align
+
fat zenzdzq - alisa, ⇐ lazy!

- Sa
'

E.Edt

parts



=
-tianya.fz.hr/1-Elna)-fatEdz--+linaalnatEI/a
AYDT

-
- tiara

,

the -14 -E ← Footnoting:Y% .

↳ (L'Hospital) do as

a

:÷÷÷h÷÷÷÷.


